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The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following as directed 1x10=10
TS faPR et Ted fordt '
(a)

is the root cause of all economic
problems. - :

| : (Fﬂlmthe blank )
qﬁmmwgﬁm«n
(18 3% o1 31 )

(b) What is sunk cost?
SPEM I 2
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(c)

(d)

(e)

(9

v

)

0)
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What is an isoquant?
AYSRATHCIAT 5 2

Define Engel curve.

e &9 IgeR] o |

What do you mean by change in scale?

BT AN ARTER Ifereat e e 2

What is income consumption curve?

S Tocsrel I 2

Define equilibrium.

SRASR e a3l |

Define factor elasticity of substitution.
fSFTR ToAmIe RfegeorR Fixw firan |
What would be the shape of indifference

curve if MRS increases?

i MRS 3f% o, cofSm Faer® @R g
(PRI ?

Draw the demand curve in case of
Giffen good.

oI Ty oIfRu (RRTIE =P 47 |
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2. Answer the following questions :
o9 PR Ted for -
(a) Show that MC = TVC, -TVC, ;.

(b)

(©

(@)

(e)

8A/363

9@31 @ MC = TVC,, ~TVC,, ;

Distinguish between explicit cost and
implicit cost.

SR T I LT A e A fers
What are stable and unstable
equilibrium?

¥ = wfFd S 2

How is elasticity of demand associated

with Average Revenue and Marginal
Revenue?

Ao @CALE Ao 2

Point out the differences between
marginal rate of substitution and
marginal rate of technical substitution.

offe 2< ~N1(F Sgferard fwa |
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3. Answer any Jour of the following questions :
5x4=20

&R R e ik 2 Tl o :

(@) Explain the assumptions of indifference
curve analysis.

e @ Rees SSYRIPRR 0 9 |

() What happens when working of market
is interfered?

IR I TwewY IR =2

(c) Explain the concept of consumer’s
surplus with the help of indifference

curve.
BT e SRR (SIS 78 4@ g -
01

(d) Distinguish between short-run and
long-run expansion path.

TR wF TRAN TEIRT [ e
Nl fra | '
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(e) Derive Engel curve in case of a normal
good. :

FeRT TR (FIS (G IF (FEF 7 R
ferar

() “Indifference curves never intersect.”

Why?
memeWmu”ﬁm

4. Answer the follbwing questions :

Tod PR Ted ol -

(a) Distinguish between static and dynamic
equilibrium. 10

R = WWW onefem o 1 -
Or/WWI

Explain Hicksian and  Slutsky’s
substitution effects. Which one is

superior? 8+2=10
Hicks o Slutskyd afFsw Ree 3
91 | (GO T8 ?

8A/363 ( Turn Over)




(6)

(b) For equilibrium, why .should marginal

(c)

8A/363

utility of money be equal to the ratio of

marginal ut1hty to the price of each
good?

SOEM Ae] IRF, dfoRy AR dAfes

TorAfel ¢ v SEee R JuR Al

oo ST 7'3 =l 2

Or/ 9«1

How would you derive demand curve
With the help of indifference curve
technique?

memwﬂ%mm
S 3R7 o1 2

ExPlam various types of returns to
Scale,
S s R e ﬁ%ﬁﬁﬂ{ia‘ﬁl sail

. Or/ 991
E:tilam the concepts _of increasing
retum, decreasing return and negative
Pro M in case of variable proportion
uction function.

TS Teo T CFES (Rl

Tm?ﬁm AR, TugpEw  afor e
T arertcaiaBt <efer <o |

10

10

10

10
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(d) Explain how profit is maximized with
the help of Revenue and Cost analysis. 10

S S T4 RERTR RS e Qs HiRe
TN, I I .
- Or/ &[T

Explain how a producer attains
equilibrium under different budget
10

constraints. .
& Sy Rfa et afwsere
AT ST 1S ¢, &R o o

Yk
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